==CAP 16==
1) Lados
a)isósceles      b)escaleno
c)equilátero     d) isósceles
Ângulos:
a)acutângulo     b)obtusângulo
c) retângulo       d)retângulo
e)acutângulo        f)obtusângulo

2)  Trapézio:
a) isósceles             b)retângulo
c) escaleno             d)isósceles
e)acutângulo           f)retânguo
Paralelogramo:
a)losango            b)losango
c)retângulo        d)retângulo
e)retÂngulo       f)quadrado

3) x=40
4)x+10+2x+30+50=180
3x=90
X=30   
Y=60 
X+75+60=180
X=45

5) a)80+60+90+x=360
X=130
b)180+130+x=360
x=50

6) podem ser triângulo:a,b,c e f
Não podem: d, e

7)E=60
60+X=180
X=120

8)2Y=180
Y=90
2X=180; X=90

9) triângulo ABH= 62+90+X=180
152+X=180; X=28
Triângulo AHC= 28+90+Y=180
118+Y=180; Y=62

10) a) X=17;Y=4
b)24


